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1.

Which of the following definitions is correct 7

{a) Absorption is the sum of all domestic goods consumed by consummers, businesses, and the

government.
{b) The cutrent account is the sum of net export and domestic investment.
() The national saviug is the sum of investment and net export. ;{
(d) Net factor payment is the difference between current account and net export. . j,

{a) An increase in government purchase in a small open ecoramy.

(b} A techiivlopical improvemnent in a small apen economy.

(&) None is correct
Which of the following events will cause an increase in current account ?

() The govemiment 'impuses an investment tax ¢redit in a small spen economy.
(d) An increass in the world interest rate for a small open economy.

(e) Nﬂneis;qrféq-t;_' '

Which of the fol.lqwing factors does not shift the AD curve to the right ? > i .
{(2) Anincrease in expected firture putput. { ¢ -'jﬁ' @ ﬁ ‘%
(b A reduction in the effcctive tax rate on capital. _ ' :%:

{¢) A rise in expected inflation.

(d) Anincrease in personal income tax rates.
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10.

Which of the following statemenis is not the evidence about the nonneutrality of mﬁmey ?

{(a) Changes in money stock have been closely associated with changes i nominal income.

(&) The interrelation between monetary and economic changes has been highly stable.

{c} Monetary changes have often had an independent origin,

(d) Monetary changes have been a reflection of changes in econonic activity.

{e) None of them,

What will happen when the stock market is bullish (booming) in the efficiency wage theory if it
is true that people has lower desire 1o work ?

(3} Itwili decrease the actual employment level,

(b} It will shift the effort curve to the fefi.

{c) Itwill shift the EF line to the right, -

{dy It will increase the wage rate, )

() All of them.

Which of the following statements is true about the monetary and fiscal policies in the short run
Keynesian model of au open economy with floating exchanges rates ?

(2} Anincrease in money supply shifts the LM curve to the s, . o
(b} Anincrease in the government purchase shifts the 18 curve of foreign country to the right,

(c) Both expansionary monetary and fiscal policies will increase the domestic real interest rates.

¢d) The effort on foreign price levels due to an expansionary manetary policy or fiscal policy is
different. ’ o S o

(e) All of them.

Which of the following statements is true about the mogelary policy in the classical model of an

open economy with floating exchange rates ? {The eichangc rate is defined to be the amonat of

foreign currency for onic unit of domestic cutrency) '

(s} An increase in money supply depreciates the real exchange rate.

(b) Anincrease in money supply depreviates the nominal exchange rate.

(¢} Awincrease in money supply raises the zeal interest rate.

{(d) An increase in money supply increases the foteign price level,

{g) Allof then. ’

The current deposit ratio is 0.2, the reserve deposit ratia 13 0.2, in which the excess reserve

deposit ratio is 0.1, if the central bank lowers the required reserve ratio to 0.05, then what

statement is not correct ?

(2) The money multiplier will increase by 0.325.

{b) If the original monetary base is 16 billion, then the monetary base will increase by 0.5
billien,

(¢} Ifthe origingl monetary base is 10 bilifon, then the excess reserve will increase by (.5
billion.

(d) If the original monetary base is 10 billion, then the money supply will increase by 329
billion. '

{e} Neng,

Which of the foltowing event will be likely I canse a currency crizis in a fixed exchange rate

country ¥

(A) The domestic currency is undervalued,

{t) The glpmestic monetary policy is expansionary,

{¢) The major rading country is conducting an expansionary monetary policy.

{d) The domestic inerest rate is very high.

(&) Allgfthem. B )

Which theory predicrs the least effective fiscal policy in incroasing the owtput level 7

(3) The classical mode] with fall price adjustment.

{b} The clagsical nisperception theory.

{c) The short run Keynesizn model.

{d} The real business cycle,
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